Soluciones Ejercicios reconocimiento de Intervalos

www.creandopartituras.com

ercicio 4

]

- E

Intervalos

o
== =4
=
© |0
o
[
& o
= = =4
19
<
% | @
<
Sl
0
s va vl
<
-8
c
<
ae
<E0

12
<
©§
r
19
A
- 19
s va vl
12
A
& 0
g
== 3
=
© |0
b1 v el
12
@)
- |10
L

G
Tl
o L¥

9
=
- Q

¢

-
> b
o |

9
)

T |||
s
0

b v vl
<
G «

um_n
)

- g
>E

)

CoRiLe)
b s el
0
N

<

© |8
|

=

- H
HMW

<

x (@
x
12

2

<L

o)
)
&[]0
b s vl
9
g
- 19
0
A
~ 18
o
g
- g
9
@)
w0
R
0
R
<
® @
<>

0
<N
<
36
o
===
nndy
=l
o
LN
g
& o
{
N
% || 8
===
<>E

Soluciones Ejercicios reconocimiento de Intervalos

www.creandopartituras.com





